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The convolution machine. This is a flow diagram showing how each sample in the output signal
i influenced hv the innut sional and imnulse resnonse.



ADC channels

ADC channels

il
on

10|

25

L J
I‘...l.

oee® @
2 I e

-320 -280 -240
X scan position, microns

—-200




S E ws_2003.11.07_14.55.20.dat
Eso0
o —
0 =
S400 =
300 M
200 =
100 =
(==
— 1 " 1 " |
-20 -15 -10 -5 0
wire position [mm]
inas - [ wire 1 - A 3 Lia [ wire 3 —
F0F 5 =0.566 +0.025 ) F0F 6=0.613 +0.014
F00F oo il
o F o L (=1} L
oo £ SHoo |- oo |
=} E (] E [=] o
Joo |- 300 Joo |
%00 | Boo | oo |
100 F 100 100 |
oF of of
JANEETE EEENE FRETE FETEE PN [ FEEE RN FETE IR PN ENE PR FE T laaaadlaaag | FETE PR | ' FNEEE REEY FAETE FRTEE AR TE S TR FTETE NN
-14.5 -14 -13.5 -13 .._Nm -12 ..._._ 5 ..._._ -._o.m 45 -4 -35 -w -2.5 -m -1.5 L -0.5 -5 -45 -4 -35 -3 -25 .» -1 m
wire position [mm] wire position [mm] wire position [mm]
émw_ all fits | Scan: total number of points = 199, rejected = 0
S600- Noise: number of points mm_mnﬁma =143 noise level = 59.56 mV
- Fit: g(x) =0 + h exp[- Em% (RMS = 27.36 mV)
: c (sigma) p (position) o (offset) h (peak height)
. [mm] [mm] [mV] mV]
3 wire 1 0.566 +0.025 -12.43 59.563 315.79
: wire 2 0.654 +0.019 -2.55 59.563 501.81
- wire 3 0.613 +0.014 -2.52 59.563 513.14
B i et e e - G- NG L D10 90 59.563  443.580
w s A s S e L 182w aver. 0617 £0.010 w2-w1=9.877 mm  w3-w2=0.024 mm

relative position [mm]




